1T N E S

S P R O DU

MARCY PRO
Multi Station GYM
PM-4500

B¢

C T §

IMPORTANT: Please read the Important Assembly Information
in the Owner’s manual before assembling this product.

Assembly Manual
110922







IIIIIIIIII






10

11

12

13

14

15

16

17

18

19

20

21 22 23 24 25 26 27

28 29

TTTTTT

__._____________—_____________—ﬂ__________._.____#_—____J____________________

o

3

4

5

6’

___

|

_—h____

|

___ﬂ_ﬂ_

7'

8

_________—_____

9

_______

____ﬂ_ﬂ__h

u_.__________
r

[T

11"

©IMPEX INC.



6 e MIOx 3 @ © 3 g¥
6) I M12x451-;”@© & @t
Wy 2 Mi2
g
1

©IMPEX INC.




M2 x 3% € (O 01
6

2

69 f—m
60
6) =

M12

M2 x 3 %

1

l”
8

M12 x 4

2

©IMPEX INC.



M12 x 17
M12 x 3 37

M12 x 4 §”

® ©
€ oD

19 017

10 Mi12

©IMPEX INC.




ﬁ

©IMPEX INC.



M12
1
1

® ® ®

M12 x 3 3"
3
4
1

M10

© © 6
@@ © &

©IMPEX INC.



17

1

L M2x65" @ o 3 M2
1 01" x4" € (O

™ 1 MI2x 03 x8

69 m

€ &

@ 1.”

® P—

B

\WV

N\

)

(/

Crrk! ¥

L)

S —— N

J .Y
& o ¥

A

Qe

10

©IMPEX INC.



M12

2

11

©IMPEX INC.



G2

MIO x 1 §"

8

6D Demm

12

©IMPEX INC.



57 ow
9 9 -’,‘7
T G\
/8 o /.

2
1
1

® ©® G

13

©IMPEX INC.



o 2 M2x0% x101 € a0 8 M2

@) e
39 m

® ©

-2 M2 x 08 x 101 G Dumm 4 M0 x 1§
8 o1

14

©IMPEX INC.



M12

@D

4 M12x3% & (O

2 MI2 x 3%

69 F—
69 F——m

@ 1”

10

11

15

©IMPEX INC.



4;4.

\Rﬂ

g |
«% u
[)
®
-
=\ |
)
o {
. Y ah y
Ay
[ == /4 ‘_.../ : .U
1]
o/ 8 /
U/ ]
=)
N
1
=)

16




69 [ 2
69 —mmm 2
6) F——mm 4
G) m_o )

1 (20X260XM12

12-A

©IMPEX INC.

17




© 2 0¥

F GD (mm 2 M10 x 27

©IMPEX INC.



14

19

©IMPEX INC.



IMPEX® INC.

2801 S. Towne Ave, Pomona, CA 91766
Tel: (800) 999-8899 Fax: (626) 961-9966
www.impex-fitness.com
info@impex-fitness.com

©IMPEX INC.

20



http://www.impex-fitness.com/

	IMPORTANT: Please read the Important  Assembly Information in the Owner’s manual before assembling this product.

